ﬂ) Keac tion e hanisms

Det airled seguénce of steps
Hhat occar i(n producing Ae

observed overal/ r=z.

- What happens o «
onoleealar /evel

For a r to occar 1Xe
reacting molee. must collide

True For,
E / exmerfllar}/ /(eacf/hs
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A HL — H + I,

| e,x/yer:'/m en7‘a. //é( findd;

rate = k [HT]*
Lxpment agrees w coeft in eg.

Counld mean:
- L molec. p€ HI collide

for cv. to occur
— Hesults in overall chem. r

~ One-step mechanism
- overall cfem. egn. represents
elementa ry process
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Fhat an eguilibriwm /s

es tablished in fAe fast step '
whek precedes fAe slowest step
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LN === Ml  (fast)

£,
rate of M0, _ rate of Hi4,
Formation 6166‘0/”!/’0 st Fion

k, [A/ﬂ]a = /{I [/140;_7
Solve for [A/aDaJ



















































